
Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A18

Catalog 3580

B
ra

ss
 M

et
ri

c 
Co

m
pr

es
si

on

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0105 Male Connector BSPT
PART NO. OD C F F1 H 

MAX H1 KG

0105 04 10 4 R1/8 10 10 17 7 .012

0105 05 10 5 R1/8 11 12 17.5 7.5 .016

0105 05 13 5 R1/4 14 12 17.5 7.5 .022

0105 06 10 6 R1/8 11 13 18 7.5 .017

0105 06 13 6 R1/4 14 13 18 7.5 .024

0105 06 17 6 R3/8 17 13 18 8.5 .031

0105 08 10 8 R1/8 13 14 19.5 7 .020

0105 08 13 8 R1/4 14 14 19.5 7 .025

0105 08 17 8 R3/8 17 14 20.5 8 .032

0105 10 10 10 R1/8 17 19 24 9 .043

0105 10 13 10 R1/4 17 19 24 9 .047

0105 10 17 10 R3/8 17 19 24 9 .048

0105 10 21 10 R1/2 22 19 25 10 .067

0105 12 13 12 R1/4 19 22 24 9 .059

0105 12 17 12 R3/8 19 22 24 9 .060

0105 12 21 12 R1/2 22 22 25 10 .076

0105 14 13 14 R1/4 22 24 25 8 .068

0105 14 17 14 R3/8 22 24 25 8 .068

0105 14 21 14 R1/2 22 24 26 9 .080

0105 14 27 14 R3/4 27 24 27 10 .107

0105 15 17 15 R3/8 22 24 25 8 .065

0105 15 21 15 R1/2 22 24 26 9 .076

0105 16 13 16 R1/4 24 27 27 9.5 .092

0105 16 17 16 R3/8 24 27 27 9.5 .092

0105 16 21 16 R1/2 24 27 27 9.5 .099

0105 16 27 16 R3/4 27 27 28 10.5 .123

0105 18 21 18 R1/2 27 30 30 10.5 .127

0105 18 27 18 R3/4 27 30 30 10.5 .138

0105 20 21 20 R1/2 30 32 32 11 .148

0105 20 27 20 R3/4 30 32 32 11 .157

0105 22 21 22 R1/2 32 36 33 11 .187

0105 22 27 22 R3/4 32 36 33 11 .196

0105 22 34 22 R1 36 36 33 11 .227

0105 25 27 25 R3/4 36 41 36 11 .261

0105 25 34 25 R1 36 41 36 11 .278

0105 28 27 28 R3/4 41 42 36 11 .274

0105 28 34 28 R1 41 42 36 11 .283

0105 Male Connector NPT
PART NO. OD C F F1 H 

MAX H1 KG

0105 06 11 6 NPT1/8 11 13 18 7.5 .018

0105 06 14 6 NPT1/4 14 13 18 7.5 .027

0105 08 11 8 NPT1/8 13 14 21 7 .021

0105 08 14 8 NPT1/4 14 14 18.5 7 .026

0105 10 14 10 NPT1/4 17 19 24 9 .048

0105 10 18 10 NPT3/8 17 19 24 9 .048

0105 10 22 10 NPT1/2 22 19 25 10 .066

0101 Male Connector with  
Captive Sealing Washer Male BSPP

PART NO. OD C E F F1 H 
MAX H1 KG

0101 04 19 4 M5X0.8 5 10 10 16.5 8 .011

0101 04 10 4 G1/8 6.5 13 10 16.5 8 .016

0101 05 10 5 G1/8 6.5 13 12 17.5 8.5 .018

0101 06 10 6 G1/8 6.5 13 13 18 8.5 .020

0101 06 13 6 G1/4 8 17 13 18 9.5 .030

0101 08 10 8 G1/8 6.5 13 14 19 8.5 .021

0101 08 13 8 G1/4 8 17 14 19.5 9 .032

0101 08 17 8 G3/8 11 22 14 20 10.5 .044

0101 10 13 10 G1/4 8 17 19 24 11 .049

0101 10 17 10 G3/8 11 22 19 24 11.5 .061

0101 12 13 12 G1/4 8 19 22 24 11 .062

0101 12 17 12 G3/8 11 22 22 24 11.5 .069

0101 12 21 12 G1/2 12 27 22 24 12 .089

0101 14 17 14 G3/8 11 22 24 25 10.5 .074

0101 14 21 14 G1/2 12 27 24 25 11 .094

0101 15 17 15 G3/8 11 22 24 25 10.5 .071

0101 15 21 15 G1/2 12 27 24 25 11 .093

0101 16 17 16 G3/8 11 22 27 27 12 .092

0101 16 21 16 G1/2 12 27 27 27 12.5 .109

0101 18 21 18 G1/2 12 27 30 29.5 12.5 .128

0101 18 27 18 G3/4 13 32 30 29.5 13 .152

0101 20 27 20 G3/4 13 32 32 31 13 .164

0101 22 27 22 G3/4 13 32 36 32 13 .195

0101 22 34 22 G1 15 41 36 31 13.5 .259

0101 25 27 25 G3/4 13 36 41 35.5 13 .261

0101 25 34 25 G1 15 41 41 35.5 13 .169

0101 28 34 28 G1 15 41 42 35.5 13.5 .300

With pre-assembled captive polymer sealing washer

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A19

Catalog 3580

B
rass M

etric Com
pression

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0101 Male Connector with  
Bi-Material Seal Male BSPP

PART NO. OD C E F F1 H 
MAX H1 KG

0101 04 10 39 4 G1/8 5.5 13 10 17.5 9 .016

0101 05 10 39 5 G1/8 5.5 13 12 18.5 9.5 .019

0101 06 10 39 6 G1/8 5.5 13 13 19 9.5 .020

0101 06 13 39 6 G1/4 7 17 13 19 10.5 .030

0101 08 10 39 8 G1/8 5.5 13 14 20 9.5 .022

0101 08 13 39 8 G1/4 7 17 14 20.5 10 .032

0101 08 17 39 8 G3/8 9.5 22 14 21.5 12 .045

0101 10 13 39 10 G1/4 7 17 19 25 12 .048

0101 10 17 39 10 G3/8 9.5 22 19 25.5 13 .062

0101 12 13 39 12 G1/4 7 19 22 25 12 .063

0101 12 17 39 12 G3/8 9.5 22 22 25 13 .071

0101 12 21 39 12 G1/2 10.5 27 22 25 13.5 .091

0101 14 17 39 14 G3/8 9.5 22 24 26.5 12 .075

0101 14 21 39 14 G1/2 10.5 27 24 26.5 12.5 .095

0101 15 17 39 15 G3/8 9.5 22 24 26.5 12 .073

0101 15 21 39 15 G1/2 10.5 27 24 26.5 12.5 .095

0101 16 17 39 16 G3/8 9.5 22 27 28.5 13.5 .092

0101 16 21 39 16 G1/2 10.5 27 27 28.5 14 .111

0101 18 21 39 18 G1/2 10.5 27 30 31 14 .129

0101 18 27 39 18 G3/4 11.5 32 30 31 14.5 .155

0101 20 27 39 20 G3/4 11.5 32 32 32.5 14.5 .164

0101 22 27 39 22 G3/4 11.5 32 36 32.5 14.5 .197

0101 22 34 39 22 G1 13 41 36 33 15.5 .259

0101 25 34 39 25 G1 13 41 41 37.5 15.5 .309

0101 28 34 39 28 G1 13 41 42 37.5 15.5 .301

Zinc plated steel with NBR seal

0101 Male Connector Metric Thread
PART NO. OD C E F F1 H 

MAX H1 KG

0101 04 55 4 M7X1 6.5 10 10 16.5 7.5 .012

0101 04 56 4 M8X1 6.5 11 10 16.5 7.5 .013

0101 05 56 5 M8X1 6.5 11 12 17.5 8 .016

0101 05 60 5 M10X1 6.5 14 12 17.5 8.5 .020

0101 06 60 6 M10X1 6.5 14 13 18 8.5 .021

0101 06 62 6 M10X1.5 6.5 14 13 18 8.5 .021

0101 08 65 8 M12X1 8 17 14 19.5 9 .029

0101 08 66 8 M12X1.25 8 17 14 19.5 9 .029

0101 08 68 8 M13X1.25 8 17 14 19.5 9 .030

0101 10 70 10 M14X1.25 8 17 19 24 11 .047

0101 10 71 10 M14X1.5 8 17 19 24 11 .047

0101 10 74 10 M16X1.25 9 19 19 24 11 .051

0101 10 75 10 M16X1.5 9 19 19 24 11 .051

0101 10 78 10 M18X1.5 9 22 19 24 11.5 .060

0101 12 74 12 M16X1.25 9 19 22 24 11 .061

0101 12 75 12 M16X1.5 9 19 22 24 11 .061

0101 12 78 12 M18X1.5 9 22 22 24 11.5 .070

0101 14 78 14 M18X1.5 9 22 24 25 10.5 .077

0101 14 80 14 M20X1.5 10 24 24 25 11 .084

0101 15 78 15 M18X1.5 9 22 24 25 10.5 .071

0101 16 80 16 M20X1.5 10 24 27 27 12.5 .102

0101 16 82 16 M22X1.5 10 27 27 27 12.5 .111

0101 18 82 18 M22X1.5 10 27 30 29.5 12.5 .129

0101 18 83 18 M24X1.5 11 30 30 29.5 13 .142

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A20

Catalog 3580

B
ra

ss
 M

et
ri

c 
Co

m
pr

es
si

on

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0114 Female Connector BSPP
PART NO. OD C E F F1 H 

MAX H1 KG

0114 04 10 4 G1/8 9.5 14 10 26 16.5 .020

0114 04 13 4 G1/4 13.5 17 10 30 20.5 .030

0114 05 10 5 G1/8 9.5 14 12 28 17 .023

0114 05 13 5 G1/4 13.5 17 12 31 21 .033

0114 06 10 6 G1/8 9.5 14 13 28 17 .025

0114 06 13 6 G1/4 13.5 17 13 32 21 .034

0114 06 17 6 G3/8 14 22 13 32 21.5 .051

0114 08 10 8 G1/8 9.5 14 14 29 16.5 .026

0114 08 13 8 G1/4 13.5 17 14 33 20.5 .036

0114 08 17 8 G3/8 14 22 14 34 21 .052

0114 10 13 10 G1/4 13.5 17 19 37 21.5 .052

0114 10 17 10 G3/8 14 22 19 37 22 .068

0114 10 21 10 G1/2 18.5 27 19 42 26.5 .099

0114 12 13 12 G1/4 13.5 19 22 36 20.5 .069

0114 12 17 12 G3/8 14 22 22 37 22 .078

0114 12 21 12 G1/2 18.5 27 22 42 26.5 .109

0114 14 13 14 G1/4 13.5 22 24 36 18.5 .085

0114 14 17 14 G3/8 14 22 24 38 21 .048

0114 14 21 14 G1/2 18.5 27 24 43 25.5 .113

0114 15 17 15 G3/8 14 22 24 38 21 .078

0114 15 21 15 G1/2 18.5 27 24 43 25.5 .109

0114 16 13 16 G1/4 13.5 24 27 36 18 .107

0114 16 17 16 G3/8 14 24 27 38 20.5 .106

0114 16 21 16 G1/2 18.5 27 27 44 26 .127

0114 18 17 18 G3/8 14 27 30 39 19.5 .140

0114 18 21 18 G1/2 18.5 27 30 45 26 .144

0114 18 27 18 G3/4 19.5 32 30 46 27 .165

0114 20 17 20 G3/8 14 30 32 38 18 .161

0114 20 21 20 G1/2 18.5 30 32 44.5 24 .173

0114 20 27 20 G3/4 19.5 32 32 47 26.5 .170

0114 22 27 22 G3/4 19.5 32 36 48 26.5 .204

0114 25 27 25 G3/4 19.5 36 41 50.5 26 .297

0109 Male Elbow BSPT
PART NO. OD C F H J L 

MAX L1 KG

0109 04 10 4 R1/8 10 17 8 19 9.5 .016

0109 04 13 4 R1/4 10 20 10 19 11 .026

0109 05 10 5 R1/8 12 17.5 8 21 11 .019

0109 05 13 5 R1/4 12 21.5 10 22 12 .028

0109 06 10 6 R1/8 13 18 8 22 11 .021

0109 06 13 6 R1/4 13 21.5 10 22 12 .031

0109 08 10 8 R1/8 14 18.5 10 28 15 .028

0109 08 13 8 R1/4 14 22 10 28 15 .033

0109 08 17 8 R3/8 14 24 12 28 15 .044

0109 10 13 10 R1/4 19 25 12 30 14.5 .052

0109 10 17 10 R3/8 19 25.5 12 30 14.5 .060

0109 10 21 10 R1/2 19 32 19 36 21 .109

0109 12 13 12 R1/4 22 26 15 30 15 .074

0109 12 17 12 R3/8 22 27 15 30 15 .077

0109 12 21 12 R1/2 22 32 19 36 21 .116

0109 14 17 14 R3/8 24 30 19 35 18 .105

0109 14 21 14 R1/2 24 32 19 35 18 .112

0109 15 17 15 R3/8 24 30 19 35 18 .099

0109 15 21 15 R1/2 24 32 19 35 18 .106

0109 16 17 16 R3/8 27 30 19 39 21 .120

0109 16 21 16 R1/2 27 33.5 19 39 21 .130

0109 16 27 16 R3/4 27 36.5 23 41 23 .189

0109 18 21 18 R1/2 30 35.5 23 41 21.5 .182

0109 18 27 18 R3/4 30 36.5 23 41 21.5 .199

0109 20 21 20 R1/2 32 36.5 23 42 21.5 .181

0109 20 27 20 R3/4 32 38 23 42 21.5 .200

0109 22 27 22 R3/4 36 40 27 50 30 .288

0109 22 34 22 R1 36 44 27 50 30 .342

0109 25 34 25 R1 41 44 27 54 30 .367

0109 28 34 28 R1 42 48 32 54 30 .384

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A21

Catalog 3580

B
rass M

etric Com
pression

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0199 Adjustable Male Elbow BSPP
PART NO. OD C F F1 H H1 H1 

MAX J L 
MAX L1 KG

0199 04 10 4 G1/8 14 10 23 16 17 8 19 9.5 .023

0199 04 13 4 G1/4 19 10 30.5 22 23.5 10 19 11 .043

0199 06 10 6 G1/8 14 13 23 16 17 8 22 11 .027

0199 06 13 6 G1/4 19 13 30.5 22 23.5 10 22 12 .047

0199 08 10 8 G1/8 14 14 24 17 18 10 28 15 .033

0199 08 13 8 G1/4 19 14 30.5 22 23.5 10 28 15 .051

0199 08 17 8 G3/8 22 14 33.5 24 25.5 12 28 15 .065

0199 10 13 10 G1/4 19 19 31 22.5 24 12 30 14.5 .068

0199 10 17 10 G3/8 22 19 33.5 24 25.5 12 30 14.5 .079

0199 10 21 10 G1/2 27 19 40 29.5 31 19 37 22 .138

0199 14 17 14 G3/8 22 24 35.5 26 27.5 19 35 18 .119

0199 14 21 14 G1/2 27 24 40 29.5 31 19 35 18 .141

0199 18 21 18 G1/2 27 30 40 29 30.5 23 41 21.5 .187

0199 18 27 18 G3/4 32 30 43.5 32 33.5 23 41 21.5 .222

0199 22 27 22 G3/4 32 36 45.5 34 36 32 51 31 .382

0199 22 34 22 G1 41 36 54 40.5 43 32 51 31 .408

0199 28 34 28 G1 41 42 54 40.5 43 32 54 30 .420

The body will orientate for positioning purposes

0108 Male Branch Tee Male BSPT
PART NO. OD C F H J L1 L2 KG

0108 04 10 4 R1/8 10 17 8 9.5 19 .025

0108 05 10 5 R1/8 12 17.5 8 11 21 .017

0108 06 10 6 R1/8 13 18 8 11 22 .032

0108 06 13 6 R1/4 13 21.5 10 16 27 .047

0108 08 10 8 R1/8 14 18.5 10 15 28 .045

0108 08 13 8 R1/4 14 22 10 15 28 .050

0108 08 17 8 R3/8 14 24 12 15 28 .061

0108 10 13 10 R1/4 19 25 12 14.5 30 .084

0108 10 17 10 R3/8 19 25.5 12 14.5 30 .090

0108 12 13 12 R1/4 22 26 15 15 30 .116

0108 12 17 12 R3/8 22 27 15 15 30 .117

0108 14 17 14 R3/8 24 30 19 18 35 .153

0108 14 21 14 R1/2 24 32 19 18 35 .168

0108 16 17 16 R3/8 27 30 19 21 39 .190

0108 16 21 16 R1/2 27 33.5 19 21 39 .203

0108 18 21 18 R1/2 30 35.5 23 21.5 41 .265

0108 18 27 18 R3/4 30 36.5 23 21.5 41 .292

0108 20 27 20 R3/4 32 38 23 21.5 42 .298

0108 22 27 22 R3/4 36 40 27 29 50 .435

0108 22 34 22 R1 36 44 27 29 50 .466

0109 Male Elbow NPT
PART NO. OD C F H J L 

MAX L1 KG

0109 06 11 6 1/8 13 18 8 22 11 .021

0109 06 14 6 1/4 13 21.5 10 22 12 .030

0109 08 11 8 1/8 14 18.5 10 28 15 .028

0109 08 14 8 1/4 14 22 10 28 15 .033

0109 10 14 10 1/4 19 25 12 30 14.5 .053

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A22

Catalog 3580

B
ra

ss
 M

et
ri

c 
Co

m
pr

es
si

on

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0119 Double Banjo with  
Captive Sealing Washer Male BSPP

PART NO. OD C F F1 H H1 L1 L2 N KG

0119 06 10 6 G1/8 14 13 24 9.5 14.5 25 17.5 .056

0119 08 13 8 G1/4 17 14 25 10 15.5 28 21 .074

0119 08 17 8 G3/8 22 14 32 13 18 30.5 26.5 .140

0119 10 13 10 G1/4 17 19 31 13 19 34 23 .156

0119 10 17 10 G3/8 22 19 32 13 19 34 26.5 .165

0119 12 13 12 G1/4 17 22 34 14.5 19 34 23 .180

0119 12 17 12 G3/8 22 22 35 14.5 19 34 26.5 .182

0119 14 13 14 G1/4 17 24 37 16 20.5 37.5 28 .246

0119 14 17 14 G3/8 22 24 38 16 20.5 37.5 28 .247

0119 14 21 14 G1/2 27 24 40 16 20.5 38 32.5 .219

Zinc plated steel with NBR seal. Thread with pre-assembled polymer washer

0103 Male Run Tee BSPT
PART NO. OD C F H

MAX H1 H2 J KG

0103 04 10 4 R1/8 10 19 17 9.5 8 .025

0103 06 10 6 R1/8 13 22 18 11 8 .033

0103 06 13 6 R1/4 13 27 21.5 16 10 .048

0103 08 13 8 R1/4 14 28 22 15 10 .050

0103 08 17 8 R3/8 14 28 24 15 12 .061

0103 10 13 10 R1/4 19 30 25 14.5 12 .084

0103 12 13 12 R1/4 22 30 26 15 15 .114

0103 14 17 14 R3/8 24 35 30 18 19 .161

0103 14 21 14 R1/2 24 35 32 18 19 .169

0103 15 17 15 R3/8 24 35 30 18 19 .148

0103 15 21 15 R1/2 24 35 32 18 19 .158

0103 16 17 16 R3/8 27 39 30 21 19 .192

0103 18 21 18 R1/2 30 41 35.5 21.5 23 .269

0103 18 27 18 R3/4 30 41 36.5 21.5 23 .282

0103 20 27 20 R3/4 32 42 38 21.5 23 .298

0103 22 27 22 R3/4 36 50 40 29 27 .435

0108 22 34 22 R1 36 44 27 29 50 .466

0118 Single Banjo with  
Captive Sealing Washer Male BSPP

PART NO. OD C F F1 H H1 L1 
MAX L1 N KG

0118 05 10 5 G1/8 14 12 24 9.5 25 14.5 17.5 .041

0118 05 13 5 G1/4 17 12 25 10 26 16 21 .058

0118 14 13 14 G1/4 17 24 37 16 37 20.5 28 .154

0118 14 17 14 G3/8 22 24 38 16 37 20.5 28 .195

0118 14 21 14 G1/2 27 24 40 16 38 20.5 32.5 .208

0118 15 17 15 G3/8 22 24 38 16 37 20.5 28 .190

0118 15 21 15 G1/2 27 24 40 16 38 20.5 32.5 .198

0118 16 21 16 G1/2 27 27 42 16 38 21 32.5 .221

0118 18 21 18 G1/2 27 30 46 19.5 43 24.5 36 .366

0118 20 27 20 G3/4 32 32 49 20 44 24.5 39 .403

0118 22 27 22 G3/4 32 36 53 22 45 24.5 39 .459

With pre-assembled captive polymer sealing washer

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A23

Catalog 3580

B
rass M

etric Com
pression

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0118 Single Banjo with  
Bi-Material Seal Male BSPP

PART NO. OD C F F1 H H1 L1 
MAX L1 N KG

0118 04 10 39 4 G1/8 14 10 23 9.5 24 14.5 17.5 .038

0118 05 10 39 5 G1/8 14 12 23 9.5 25 14.5 17.5 .041

0118 05 13 39 5 G1/4 17 12 24 10 26 16 21 .064

0118 06 10 39 6 G1/8 14 13 23 9.5 25 14.5 17.5 .042

0118 06 13 39 6 G1/4 17 13 24 10 26 16 21 .057

0118 08 10 39 8 G1/8 14 14 23 9.5 28 15.5 17.5 .055

0118 08 13 39 8 G1/4 17 14 24 10 28 15.5 21 .058

0118 08 17 39 8 G3/8 22 14 31.5 13.5 30 18 26.5 .113

0118 10 13 39 10 G1/4 17 19 30 13 34 19 23 .118

0118 10 17 39 10 G3/8 22 19 31.5 13.5 34 19 26.5 .128

0118 12 13 39 12 G1/4 17 22 33 14.5 34 19 23 .128

0118 12 17 39 12 G3/8 22 22 34.5 15 34 19 26.5 .140

0118 14 13 39 14 G1/4 17 24 36 16 37 20.5 28 .189

0118 14 17 39 14 G3/8 22 24 37.5 16.5 37 20.5 28 .198

0118 14 21 39 14 G1/2 27 24 39 16.5 38 20.5 32.5 .205

0118 15 17 39 15 G3/8 22 24 37.5 16.5 37 20.5 28 .389

0118 15 21 39 15 G1/2 27 24 40 16.5 38 20.5 32.5 .202

0118 16 21 39 16 G1/2 27 27 40 16.5 38 21 32.5 .225

0118 18 21 39 18 G1/2 27 30 47 20 43 24.5 36 .369

0118 20 27 39 20 G3/4 32 32 50 20.5 44 24.5 39 .394

0118 22 27 39 22 G3/4 32 36 54 22.5 45 24.5 39 .462

Zinc plated steel with NBR seal

0119 Double Banjo with  
Bi-Material Seal Male BSPP

PART NO. OD C F F1 H H1 L1 L2 N KG

0119 04 10 39 4 G1/8 14 10 23 9.5 14.5 24 17.5 .050

0119 05 10 39 5 G1/8 14 12 23 9.5 14.5 25 17.5 .049

0119 05 13 39 5 G1/4 17 12 24 10 126 26 21 .072

0119 06 10 39 6 G1/8 14 13 23 9.5 14.5 25 17.5 .056

0119 06 13 39 6 G1/4 17 13 24 10 16 26 21 .071

0119 08 10 39 8 G1/8 14 14 23 9.5 15.5 28 17.5 .072

0119 08 13 39 8 G1/4 17 14 24 10 15.5 28 21 .080

0119 08 17 39 8 G3/8 22 14 31.5 13.5 18 30 26.5 .118

0119 10 13 39 10 G1/4 17 19 30 13 19 34 23 .156

0119 10 17 39 10 G3/8 22 19 31.5 13.5 19 34 26.5 .167

0119 12 13 39 12 G1/4 17 22 33 14.5 19 34 23 .180

0119 12 17 39 12 G3/8 22 22 34.5 15 19 34 26.5 .183

0119 14 13 39 14 G1/4 17 24 36 16 20.5 37 28 .248

0119 14 17 39 14 G3/8 22 24 37.5 16.5 20.5 37 28 .247

0119 14 21 39 14 G1/2 27 24 39 16.5 20.5 38 32.5 .262

0119 15 17 39 15 G3/8 22 24 37.5 16.5 20.5 37 28 .246

0119 15 21 39 15 G1/2 27 24 40 16.5 20.5 38 32.5 .251

0119 18 21 39 18 G1/2 27 30 47 20 24.5 43 36 .469

0119 20 27 39 20 G3/4 32 32 50 20.5 24.5 44 39 .638

0119 22 27 39 22 G3/4 32 36 54 22.5 24.5 45 39 .610

0106 Equal Tube-to-Tube Connector
PART NO. OD F F1 L

MAX L1 KG

0106 04 00 4 10 10 28 10 .016

0106 05 00 5 11 12 31 11 .023

0106 06 00 6 11 13 32 11 .026

0106 08 00 8 13 14 36 10 .031

0106 10 00 10 17 19 42 13 .070

0106 12 00 12 19 22 42 13 .092

0106 14 00 14 22 24 45 11 .104

0106 15 00 15 22 24 45 11 .097

0106 16 00 16 24 27 48 13 .141

0106 18 00 18 27 30 53 14 .186

0106 20 00 20 30 32 56 14 .211

0106 22 00 22 32 36 60 14 .283

0106 25 00 25 36 41 64 14 .396

0106 28 00 28 41 42 64 14 .399

0116 Bulkhead Union
PART NO. OD F F1 F2 L

MAX
L1

MAX L2 L3 OT
MIN KG

0116 04 00 4 10 10 13 27 17 7 17 8.3 .024

0116 05 00 5 13 12 14 28 18 7.5 17.5 10.3 .035

0116 06 00 6 13 13 14 28 19 7.5 17.5 10.3 .037

0116 08 00 8 14 14 17 29 20 7 17 12.3 .045

0116 10 00 10 19 19 22 33 25 9 19 16.5 .101

0116 12 00 12 22 22 22 33 25 9 19 18.5 .121

0116 14 00 14 24 24 24 35 25 8 18 20.5 .145

0116 15 00 15 24 24 24 35 25 8 18 20.5 .134

0116 16 00 16 27 27 27 36 28 9.5 19.5 22.5 .189

0116 18 00 18 27 30 30 40 30 10.5 20.5 24.5 .237

0116 20 00 20 32 30 32 41 31 11 21 27.5 .274

0116 22 00 22 36 36 36 42 32 11 21 30.5 .372

0116 25 00 25 36 41 38 46 36 11 21 33.5 .469

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A24

Catalog 3580

B
ra

ss
 M

et
ri

c 
Co

m
pr

es
si

on

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0142 Union Y with Mounting Boss
PART NO. OD F H

MAX H1 L
MAX L1 0T KG

0142 04 00 4 10 16.5 7 26.5 17 4.2 .032

0142 06 00 6 13 19.5 8.5 28 17 4.2 .049

0142 08 00 8 14 21 8 30 17 6.2 .061

0142 10 00 10 19 24.5 9 37.5 22 6.2 .128

0142 12 00 12 22 26 11 38 23 6.2 .110

0142 14 00 14 24 28 11 41.5 24.5 6.2 .201

0142 15 00 15 24 28 11 41.5 24.5 6.2 .204

0142 16 00 16 27 30 12 43 25 6.2 .252

0142 18 00 18 30 31.5 12 50.5 31 10.2 .220

0142 25 00 25 41 39 14 59 34 10.2 .728

0107 Union Cross
PART NO. OD F H J L2 KG

0107 04 00 4 10 9.5 8 19 .035

0107 05 00 5 12 11 8 21 .047

0107 06 00 6 13 11 8 22 .052

0107 08 00 8 14 15 11 28 .073

0107 10 00 10 19 14.5 14 30 .142

0107 12 00 12 22 15 15 35 .096

0107 14 00 14 24 18 20 35 .246

0107 15 00 15 24 18 20 35 .227

0107 16 00 16 27 21 20 39 .312

0107 18 00 18 30 21.5 25 41 .426

0107 20 00 20 32 21.5 25 42 .429

0107 22 00 22 36 29 27 50 .676

0107 25 00 25 41 29 27 50 .819

0102 Union Elbow
PART NO. OD F J L 

MAX KG

0102 04 00 4 10 5 19 .016

0102 05 00 5 12 8 21 .024

0102 06 00 6 13 8 22 .027

0102 08 00 8 14 10 28 .038

0102 10 00 10 19 12 30 .073

0102 12 00 12 22 15 30 .098

0102 14 00 14 24 19 35 .133

0102 15 00 15 24 19 35 .122

0102 16 00 16 27 19 39 .164

0102 18 00 18 30 23 41 .231

0102 20 00 20 32 23 42 .233

0102 22 00 22 36 27 50 .371

0102 25 00 25 41 27 54 .446

0102 28 00 28 42 32 54.5 .478

0104 Union Tee
PART NO. OD F H J L 2 KG

0104 04 00 4 10 9.5 8 19 .028

0104 05 00 5 12 11 8 21 .036

0104 06 00 6 13 11 8 22 .040

0104 08 00 8 14 15 10 28 .055

0104 10 00 10 19 14.5 12 30 .105

0104 12 00 12 22 15 15 30 .142

0104 14 00 14 24 18 19 35 .190

0104 15 00 15 24 18 19 35 .175

0104 16 00 16 27 21 19 39 .239

0104 18 00 18 30 21.5 23 41 .330

0104 20 00 20 32 21.5 23 42 .330

0104 22 00 22 36 29 27 50 .518

0104 25 00 25 41 29 27 54 .630

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A25

Catalog 3580

B
rass M

etric Com
pression

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0124 Suffix 40, 0111 Sleeves
0D MM PART NO. WT PART NO. WT

4 0124 04 00 .001 0111 04 00 .001

5 0124 05 00 .001 0111 05 00 .001

6 0124 06 00 .001 0111 06 00 .001

8 0124 08 00 .002 0111 08 00 .002

10 0124 10 00 .003 0111 10 00 .002

12 0124 12 00 .004 0111 12 00 .003

14 0124 14 00 .004 0111 14 00 .003

15 0124 15 00 .004 0111 15 00 .003

16 0124 16 00 .006 0111 16 00 .004

18 0124 18 00 .007 - -

20 0124 20 00 .009 - -

22 0124 22 00 .012 - -

25 0124 25 00 .017 - -

28 0124 28 00 .017 - -

0D 
MM

MAX KG.  
TORQUE

4 .7

5 .7

6 1.5

8 1.5

10 1.8

12 3

14 3.5

15 4

16 5

18 6

20 6

22 7

25 8

28 9

0110, 0110 Suffix 40, 0110 Suffix 60 Nuts
0D MM C PART NO. WT PART NO. WT

4 M8X1 0110 04 00 .005 0110 04 00 60 .006

5 M10X1 0110 05 00 .006 0110 05 00 60 .009

6 M10X1 0110 06 00 .008 0110 06 00 60 .011

8 M12X1 0110 08 00 .008 0110 08 00 60 .012

10 M16X1.5 0110 10 00 .019 0110 10 00 60 .027

12 M18X1.5 0110 12 00 .026 0110 12 00 60 .041

14 M20X1.5 0110 14 00 .029 - -

15 M20X1.5 0110 15 00 .028 0110 15 00 60 .050

16 M22X1.5 0110 16 00 .043 0110 16 00 60 .072

18 M24X1.5 0110 18 00 .059 - -

20 M27X1.5 0110 20 00 .057 - -

22 M30X1.5 0110 22 00 .079 - -

25 M33X1.5 0110 25 00 .121 - -

28 M36X1.5 0110 28 00 .109 - -

Brass
Nut 0110

Brass
Sleeve 0124

Brass Nut
0110...60

Brass
Sleeve
0111

Technical Specifications  
of Nuts
Tightening Torque

	■ Maximum kg = tightening torque 
for nut 0110 and sleeve 0124 on 
copper, brass or steel tube

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A26

Catalog 3580

B
ra

ss
 M

et
ri

c 
Co

m
pr

es
si

on

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

Complementary Brass Fittings – Assembly Configuration
The table and information given below illustrate the large number of options available with Parker Legris brass compression 
fittings. To these must be added the advantages specific to the original Parker Legris reducer shown on the previous page.

 
BRASS BODY

0110 
BRASS

0110..60
BRASS

0110..40
STEEL

0110..70*
POLYMER

0124 
BRASS

0111 
BNA** BRAS

0124 
BRASS

0111 
BNA** BRAS

01 24…40  
STEEL

No olive 
required to 
assemble 
the plug

No olive required to 
assemble the tube

Brass plug: 
0126

Copper, cold-rolled 
brass, polymer tube 
and barb connectors 

0122 and 0165

Coiled annealed
copper tube

Cold-rolled copper tube 
for vibration and side 

loading, etc.

Coiled annealed copper
tube for vibration and 

side loading, etc.

Steel or copper tube:
low/medium hydraulic 

pressure, lubricate 
before assembly

 
Polymer tube

*Assembly specifications for nut-olive 0110 ..70

This part functions as both olive and nut for flexible polymer tube assemblies:

1.	 Hand tighten the polymer nut-olive a few turns onto the body of the fitting; the knurling makes this easier.

2.	 Then introduce the polymer tube and push home into the body of the fitting.

3.	 Continue manually tightening the polymer nut-olive.

4.	 Finish tightening using a spanner until the nut body disengages and turns freely, which acts as a torque limiter.

N.B.:  To avoid damaging the threads, do not insert the tube before hand tightening the nut-olive into the body of the fitting. 
**Bureau de Normalisation de l'Automobile (French Automotive Bureau of Standards)

Ø D
(MM)

F
0110

F
0110..60

MAX. DAN.M
COPPER OR 

BRASS

F
0110..40

MAX. DAN.M
STEEL

4 10 11 .7 10 1.5

5 12 12 .7 12 1.5

6 13 12 1.5 13 2.5

8 14 16 1.5 14 2.5

10 19 20 1.8 19 3

12 22 22 3 22 4.5

14 24 24 3.5 24 5.5

15 24 24 4 24 6

16 27 27 5 27 7

18 30 30 6 30 9

20 32 32 6 32 10

22 36 36 7 36 12

25 41 42 8 41 13

28 42 9

Tightening torque in 
daN.m = maximum 
tightening torque of 
a 0110 nut and 0124 
olive with copper, 
brass or steel tube.

Nut 0110 and 
0110..40

L

C

F

ØD

Nut 0110..60

L

C

F

ØD

Recommended Tightening Torque

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression


Parker Hannifin Corporation  |  Fluid System Connectors  |  Otsego, MI A27

Catalog 3580

B
rass M

etric Com
pression

WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer 
and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

0127 Tube Support for Plastic Tube	
0D1
MM

0D2 
MM PART NO. WT

4 2 0127 04 00 .001

4 2.7 0127 04 27 .001

5 3 0127 05 03 .001

5 3.3 0127 05 00 .001

6 4 0127 06 00 .001

8 5.5 0127 08 55 .001

8 6 0127 08 00 .001

10 7 0127 10 07 .002

10 7.5 0127 10 75 .002

10 8 0127 10 00 .002

12 8 0127 12 08 .002

12 9 0127 12 09 .002

12 10 0127 12 00 .002

14 11 0127 14 11 .003

14 12 0127 14 00 .003

15 12 0127 15 12 .003

16 13 0127 16 13 .003

18 14 0127 18 14 .004

20 15 0127 20 15 .004

22 16 0127 22 16 .005

25 19 0127 25 19 .005

At high temperature and pressure or during oscillating movements, the use of tube supports 
prevents distortion of the tube and guarantees effective gripping and sealing.

0110 Suffix 70 Nut Sleeve
0D 
MM C PART NO. F 

MM
L 

MM WT

4 M8X1 0110 04 00 70 8 13 .001

6 M10X1 0110 06 00 70 11 15 .002

8 M12X1 0110 08 00 70 13 16 .002

10 M16X1.5 0110 10 00 70 17 19 .004

12 M18X1.5 0110 12 00 70 19 19 .005

14 M20X1.5 0110 14 00 70 22 20 .007

16 M22X1.5 0110 16 00 70 24 21 .009

Plastic nut-sleeve should not be used on metal tubes.

0125 End Plug Metric
0D 
MM C PART NO. F 

MM
L 

MM
L1 

MM WT

6 M10X1 0125 06 00 11 13.5 9.5 .009

8 M12X1 0125 08 00 14 14 9 .012

10 M16X1.5 0125 10 00 17 18 11 .025

The plug enables unused tubes to be blanked off. The male thread on the plug 
has the same pitch as the female thread on the nut of a standard Legris fitting. 
Therefore, the plug screwed into the nut blanks off the tube.		
					   
To reopen the passage, simply unscrew the plug and fit the required 
connector. No further treatment of the tube is required.

0220 Male Plug BSPP
C 

BSPP PART NUMBER F 
MM

G 
MM

H1 
MM WT

G 1/8 0220 10 00 39 14 14 6.5 .005

G 1/4 0220 13 00 39 17 17 6.5 .016

G 3/8 0220 17 00 39 17 22 8 .021

G 1/2 0220 21 00 39 22 26 9 .045

G 3/4 0220 27 00 39 22 32 10 .053

G 1 0220 34 00 39 27 39.5 10.5 .067

0168 Reducer Male To Female BSPP
CI 

BSPP
C2 

BSPP PART NO. E 
MM

F 
MM

G 
MM

L 
MM WT

G 1/8 M5X.8 0168 10 19 39 8 14 14 4.5 .010

G 1/4 M5X.8 0168 13 19 39 8 17 17 5 .012

G 1/4 G 1/8 0168 13 10 39 8 17 17 5 .020

G 3/8 G 1/8 0168 17 10 39 10 19 22 5 .028

G 3/8 G 1/4 0168 17 13 39 10 19 22 5 .035

G 1/2 G 1/8 0168 21 10 39 12 24 26 7.5 .039

G 1/2 G 1/4 0168 21 13 39 12 24 26 7.5 .056

G 1/2 G 3/8 0168 21 17 39 12 24 26 7.5 .062

G 3/4 G 1/4 0168 27 13 39 12 32 32 9.5 .067

G 3/4 G 3/8 0168 27 17 39 12 32 32 9.5 .097

G 3/4 G 1/2 0168 27 21 39 12 32 32 9.5 .116

Engineering Plastic

Brass with 
Bi-Material Seal

Brass with 
Bi-Material Seal

Click here for CADs, Product Specifications or to Configure Parts Online

http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression

